
Bona Mini Edge AMO260001.0 Mini Edge Machine Cap 230 V



Bona Mini Edge AMO260001.0 Mini Edge Machine Cap 230 V

. ASO260510 Rubber handle with I/O button 

4.01 . ASO260101 Machine cap 

4.02 . ASO958315 Screw M5x16 

4.03 . ASO903880 Cable stand 230V 

4.04 . ASO261010 Handle 

4.05 . ASO261012 Bracket 

4.06 . ASO952522 Screw M8 x 45 

4.08 . ASO957811 Screw M 5x8 

4.09 . ASO261007 Lamp glass 

4.10 . ASO261017 Rubber sealing 

4.11 . ASO955412 Screw MSK6SS M6x8 

4.12 . ASO901518 Screw cap M16 steel Mini Edge 

4.13 . ASO958105 Screw M3,5x10 Sheet-track 

4.14 . ASO261013 Safety loop


